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Unacceptable Evidence for Unit 93

Understanding the Potential of IT (UPT)

1.1 and 1.2   Describe the potential of IT to improve, at least two examples for each of the bullets:
 internal communications
 external communications
 and business processes

Chat – improves our internal communications as it allows users to see which other users are logged 
into the system and then to send them instant message and get an instant response.  It is useful 
when you are working on a task and need clarification from another team member.  It is an instant 
response and saves using the phone and dialling a number or walking to another office to ask 
someone a question.

IT can be used to brand an organisation.  You can create a logo using software and then incorporate 
that logo with other company information to produce a professional corporate image.  Internally we 
have a company layout that we use for email that includes our internal signature, rules for out of 
office and forwarding messages so they are dealt with by other people in our department to save 
delays in responses. This makes email standardised so we can quickly complete the template and it 
looks neat and professional.

Unacceptable as it does not cover external communications and business processes

1.3   Describe at least two positive and two negative impacts on employees in the deployment of IT

Two negative impacts on employees following the deployment of IT are:
1. That they could be made redundant.
2. They may be technophobic.

Two positive impacts on employees following the deployment of IT are:
1. People can read your work better than your handwriting.
2. You can find lots of information on the internet

Unacceptable as it does not “describe”.  The candidate needs to expand on the answers provided.
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2.1 and 2.4   Describe at least two benefits of new technologies on personal and social 
communication and interaction and identify at least two possible drawbacks of new technologies 
for individuals and society

Social Networks 
Benefits

1. You can find things out about people
2. You can see other people’s photos

Drawbacks 
1. People ask to be your friend and you may not want them to be
2. It is hard to find people with popular names 

Unacceptable as it does not “describe”

2.2 and 2.3   Describe at least two examples for each bullet of how IT can improve access to:

– education

There is a lot of educational information on various websites – tutorials, shortcuts, videos etc.

– government services

National and Local Government have their own websites which you can find lots of information on.

– products and services

You can shop around on the Internet to find the best price for products and you can use compare 
websites to help you shop around.

Unacceptable as it does not “describe”. The candidate needs to expand on the answers provided.
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3.1   Describe the purpose of key components of the IT system include at least two examples of 
each:

– hardware

I use a computer to do my work on and a printer to print it out on

– software 

I have Operating Software and Applications Software which I have a licence for

– communications

I access the Internet and send emails via broadband and my internet service provider

Unacceptable as it does not “describe”. The candidate needs to expand on the answers provided.

3.2   Describe at least two roles and the responsibilities of those involved in operating and 
supporting the IT function 

My role is to look after IT regulations including IT equipment.  The IT Manager in our Head Office is 
responsible for purchasing and disposing of equipment and designing how the systems are set up so 
IT and Data security and passwords etc.  

Very brief – The candidate needs to expand on the answers provided.

3.3   Describe at least two guidelines and procedures for accessing IT help and support 

See appendix 1 for a copy of our company guidelines on data protection and appendix 2 for a copy of 
the company guidelines on Acceptable use of IT 

Unacceptable as it does not “describe” in the candidates words. It does not mean the candidate is 
even aware of the information in the guidelines.

4.1 and 4.2   Compare two different approaches to introducing new IT tools and systems and 
describe at least two potential benefits from the introduction of new IT tools and systems

Parallel systems are running two systems side by side whilst training on new one the old is there as a 
backup.  Prototypes/pilot/phased introduction are introducing it slowly as part of the testing stage.  

Unacceptable as it does not compare or describe at least two potential benefits from the 
introduction of new IT tools and systems
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4.3   Describe at least two methods used by manufacturers and publishers to control usage of 
digital content and devices

Many manufacturers will ask users to activate their software so they can use it on a certain 
computer and then it is tracked

You should not copy things straight from the Internet i.e. pictures, videos or text as they are 
protected by copyright

Unacceptable as it does not cover two methods used by manufacturers and publishers to control
usage of digital content and devices and there is not an adequate description

5.1   Describe at least two risks to security for IT users

Viruses are a risk to security they can cause lots of damage.

Identity theft is a risk to security as people can access your personal details if you write your 
username or password down and someone finds it or if you leave your computer logged in.

Very brief – The candidate needs to expand on the answers provided.

5.2   Describe at least two control measures and policies organisations can put in place to 
maximise personal and data protection

Anti-virus software can be installed to prevent viruses.  

Passwords can be setup so they are a minimum number of characters and contain a mixture of 
uppercase, lowercase, numbers, letters and are prompted to change them regularly.

Very brief – The candidate needs to expand on the answers provided.

5.3   Describe how organisations can exploit at least two new developments in technology to 
improve cyber security

Set the virus checker so it updates automatically when connected to the Internet. 

Backup files to cloud technology.

Very brief – The candidate needs to expand on the answers provided.


